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Note: (i) All the 32 questions in both the section ‘A’ and *B’ are compulsory.

{(ii) Marks for questions are indicated against each question.

(iii) Question No. 1 to 5 and 17 to 21 are very short answer type questions carrying 1 mark each.
They are required to be answered in one sentence or within 20 werds each.

(iv) Question No. 6 to 10 and 22 to 26 are short answer type questions carrying 3 marks each.
Answer to them should not normally exceed 60 words each.

(v) Question No. 11 to 13 and 27 to 29 are also short answer type questions carrying 4 marks
each. Answer to them should not normally exceed 70 words each.

(vi) Question No. 14 to 16 and 30 to 32 are long answer type qustions carrying 6 marks each.
Answer to them should not normally exceed 100 words each.

(vii}) Answer should be brief and clear to the point and above word limit be adhered to as far as
possible.

(viii) Start from the first question and proceed to the last. Do not waste time over a question if yvou
cannot solve it.
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EUs — ‘3 (Section - “A’)

1. e feR o1 aiemar dITY| 1
Define microeconomics.

2, WM agel § g A § 7 I
What is meant by normal goods 7

3. 97} @1 s qUeTE A § AT URAeE B 7 1
Is ‘law of demand’ a qualitative statement or quantitative statement ?

4 99R @ fee w0 H e BH T WieR o o Rafy e g ? 1
Under which market form, a firm is a price taker ?

ER < s ) v e | s R s B s e -84 1
What is the formula of finding marginal cost (MC) ?

6.  SCUTEA WA Nl BT SERIT &I I R W DIy | 3

Explain the concept of production possibility curve with the help of a diagram.

7. Yafra g velia @i % g SwEifer 99 Sfwad B 8 S M SuaT

Bl | 3
:f:w with diagram that total utility (TU) is maximum when marginal utility (MU) is zero.
8.  wraei A @ g ? W B | 3
What is elastic demand ? Clarify.
9. T anferet @1 qoi Sifsiu— 3
g1 Al 1 2 3 4 5
S SydIfEr (g6138 ) 50 90 = 140 150
o suaifiar E®E 4) 50 — 30 i L1
Complete the following table —
Units 1 2 2 4 3
Total Utility (in units) 50 90 - 140 150
Marginal Utility (in units) 50 — 30 — —
32dr (OR)

IS B[ BT SR BT W BN |
Explain the concept of production function.

10, oof uferaifireT vd Yo o <9 H U WH Pl it ST T AT S @i B
TeiRia ifsr | 3

Draw average revenue (AR) and marginal revenue (MR) curves of a firm under perfect competition
and monopoly.

11. SeriHar 9@ &1 fasigarii &1 9uiH sy | : 4

Discuss the properties of indifference curve.
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12.

16.

1

18.

i

20.

ReR ST U9 IRadTEie IFTdt @ 5 SFeR 9T | Uid @ o 9eIeRy S| 4

Distinguish between fixed costs and variable costs. Give two examples of each.

Heqprel ¥ HHT AT 95F U’ PR # i 8 8 ? 4
Why the MC curve in the short run is ‘U” shaped ?
qeRerd AFRE T & 7 FARAE g fAvewer & aEmar ¥ SuHieT Sged @ e

HETRY | 6

Define an indifference map. Explain the conditions of consumer’s equilibrium with the help of the
indifference curve analysis.

gfth &t @Ha @ & AT SR o s R W ST | 6
Explain with diagram various catagories of price elasticity of supply.

ot ferer & v Yifaa o et iR ger wgeq @ ek P — 6
a2 ) 10 15 20 25 30

HIT (3HE H) 100 80 60 40 20

gfif @ o) 20 40 60 80 100

Draw a diagram from the following table and find the equilibrium price —

Price (in T) 10 15 20 25 30

Demand (in unit) 100 &0 60 40 20

Supply (in unit) 20 40 60 80 100
34T (OR)

TSN &1 9T 31ef B ? gl Al o garsd |

What is the meaning of oligopoly ? Explain its features.

LUg — ‘d° (Section—‘B’)

axg fafma wonelr @1 <1 Al garsy | 1
Give two drawbacks of barter system.

amiRe dof @ <1 T &1l B gaEd | 1
Write two important functions of commercial banks.

Afe A1 ST wgfd 0.80 8, o Wi gEa wgfa T@r 2nf ? 1
If MPC is 0.80, what will be MPS ?

G 9uHnT yafa & w9 # Pge qure &1 9= gy | 1
Give the formula of investment multipleir in term of MPC.

gie =1 STer @ Y T 130 &1 siawydn 2, O v @1 fafma < garsd | 1

If T 130 are needed to buy two Dollar, what is exchange rate for rupees ?
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20, e i B waE RRNaR o ged #if |

Mention the important features of Macroeconomics ?
23, 3 & TG YATE @) AT Biforg | _ 3

Explain the circular flow of the income.

Led

31l (OR)

e g yarE &1 el SeEvv gitd e By |
Clarify the meaning of stock and flow with example.

24, TUAIT awell Td Yoird axgaet @ diE o) qargd | 3

Distinguish between consumption goods and capital goods.

b5, freel Riftmy = @t aar ek £ ? Rer vg uRad=eiiar fafemg <% & arar Tarsd | 3

What is foreign exchange rate ? Distinguish between fixed and flexible exchange rate.

26. @ﬁﬁﬂﬁm@ﬁ%gwaa@mnﬁﬂwmﬁ%?mﬁﬁ%ﬂwaﬁﬁm 3
What is meant by visible and invisible items in balance of payment accounts ? Give two examples of
invisible items.

27. Y p & PRGN DI SAEWN BRI | 4

Explain the working of investment multiplier with the help of example.

28, goie @ @t sk & ? wwferd Ud "IC @7 guic H Ty gargd | 4
What is budget ? Distinguish between balance and deficit budget.

29. RISHIEI ETEr SR Rod =rer & 4™ SioR Iarsd | 4
. Distinguish between ‘fiscal deficit’ and ‘revenue deficit’.
30. D= J6 P U BET B ARAT DI | 6
Explain the main functions of central bank.
3. e aidel & STER WX Ge UG S0 B eI Jed WRITUET BT 6

(i) B BN IUE (@SR Hed) 50720 HRIS T
Gi) faee 31 ure g ArEE d 2400 TS T
On the basis of following data, calculate GNP at market price—

(i) GDP at market price 50720 crores ¥
(i) Net factor income from abroad 2400 crores¥

34T (OR)
U g o @) g fafr @ e S|
Explain the Expenditure method of estimating National Income.

32 srifoe WSMRT § oY 9 GASW & 2 9O ISR B o Bif | 6

What do you mean by inveluntary unemployment ? Explain full employment.

EES 2 EEE
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